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m) 72,000,000& * 14 72,000
OR2Z=E 5= 22 2 - =2 HUIZAHL=30
Om) 50,000,000& * 14 50,000
O=Y 1252 2 & Hi==2 HHI3AHL=400m)
400,000,000& * 14 400,000
03 A& =00l 7,134 4,516 2,618
OsYIIBAIE FHUIAY AIERUIB
7,133,500& 7,134
(EF)sHIIBAIE S22 183,320 155,760 27,560
201 B2 3| 4,240 5,040 2800
01 At 22l bl 4,000 4,800 A 800
OMAltiHl Sti==23&4l =40 Xt
500,000& * 8¢ 4,000
02 3324l 240 240 0
oOXYA+F MIRB 20,000& = 128 240
207 30| 28,000 0 28,000
02 & AN I 28,000 0 28,000
OCIAIEE HAZEIAIAE P=(60IHA)
28,000,000& * 14 28,000
401 Al HIZL2THYI 151,080 150,720 360
01 A& I 150,000 150,000 0
OAAE F2lANE gA2e
5,000,000& * 30JH 2 150,000
03 A& =20l 1,080 720 360
O=I|BAIE |X2el AlE2UY]
150,000,000& * 0.72% 1,080
(HZ=)=22 A 2e| 15,000 7,590 7,410
201 B2 | 15,000 7,590 7,410
01 AbR2 22| bl 15,000 7,590 7,410
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Sk

som
M =908 S
el =IIBtAIE ZH (ke dd)
= 9 L=
N+ B3 S9(3) - MRAY - B2 0 e o4 85 HImS2
OEg++3 ¥ SIHE 500,000 = 30 15,000
HY)MRANISELEMNS(EE) 347,143 1,621,428 21,274,285
& 243,000
= 31,243
Al 72,900
402 212t X+=0l1d 347,143 1,621,428 A1,274,285
Z 243,000
= 31,243
Al 72,900
02 QI2HCHEAF I 347,143 1,621,428 21,274,285
OLN2MHRADIS ZHAY 347,143
Z 243,000
= 31,243
Al 72,900
A )StE U8 EAI (51) 220,000 220,000 0
= 176,000
L= 22,000
Al 22,000
401 Al EHI K20 220,000 220,000 0
= 176,000
& 22,000
Al 22,000
01 Al& bl 218,416 218,416 0
OSHZ I EFHL A (R 1) 218,416
= 176,000
B 22,000
Al 20,416
03 Al B 1,584 1,684 0
OANE=0itI 220,000,000 %0.72/100 1,584
HAVDIHS BRI TN () 2,831,428 3,120,386 288,958
Z 1,982,000
== 424,714
Al 424,714
401 AlEHIZL 2 566,286 720,000 A153,714
Z 396,400
& 84,943
Al 84,943
01 Al&dl 562,718 714,816 A152,098
OJIAHSBEZ SHEFAI(4.6km) 562,718
2 396,400
= 84,943
Al 81,375
03 AIE 204 b 3,568 5,184 21,616
OA&=20bl 566, 286,000%0.63/100 3,568
403 X SHSXH=01A 2,265,142 2,400,386 A 135,244
& 1,585,600
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Sk

sHEM
= ESSPIEESS
Chel: sYI|EAIEd] (chel: @)
24 PSIE]
S - EM SR (BIH) - HIRAY - BAS 0] &k o4 8o HimE:
= 339,771
Al 339,771
02 S| 2ASOICHECHE AFS I 2,265,142 2,400,386 A135,244
OIHEAEZ ST AR (18.4km) 2,265,142
& 1,585,600
= 339,771
Al 339,771
(HRsSZ=MSSHTHAL (EE) 2,038,571 2,859,000 A820,429
= 1,427,000
< 183,471
Al 428,100
401 A& I 2 THYI 2,038,571 2,840,000 A801,429
= 1,427,000
= 183,471
Al 428,100
01 A&l 2,031,232 2,829,776 AT798,544
OsSEMEEHIUIAL (2IHH) 2,081,232
& 1,427,000
= 183,471
Al 420,761
03 Al =20l 7,339 10,224 AN2,885
OAl &R0l 2,038,571,000«0.36/100 7,339
(HR)sYIAIE FRAEFAS 1,540,700 1,667,940 A127,240
401 AIEHIZ 2T 1,528,700 1,655,940 A127,240
01 Al&Hl 1,524,000 1,650,000 A 126,000
OLCIANEX 22U (AR, =2 2, 2H
, =7 600,000
OA2RZE JIHSFAEZ ST B AHB.0km) 300,000
OsIIEAE DI28XN 243 150,000
OsIIUAIL HHENE FHI(ABK, ST
J2EE) 264,000
OBZHZX #clAE2 EH L HESH™USAH
AT BAHE) 10,000
O=20| st SH+2 HUISBAHFE, =)
[=800m 200,000
03 A& 20Hdl 4,700 5,940 21,240
ANE2E A= 4,700
402 RIZEXE0IA 12,000 12,000 0
02 QI2FCHER ALY 12,000 12,000 0
OlIS5t2E fASR2(F 85,94 2A) 12,000
(R )sIIeAe &S 2,228,489 1,154,095 1,074,394
401 Al BIZ 20t 1,528,489 654,095 874,3%
01 Al&Hl 1,524,000 650,000 874,000
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FM:

s
BH: se)|u 25
SRR T CERED
S HH O (BH) - HEANY - BAS Ofl b8 e HRS2
O AXFEXTP SHIEZ HH|IZ2AHL=600m
) 200,000
O2X BXNLXNR SXSEH=2 14! (A=11ha
) 40,000
O=0 ZYU2 2H£=Z Fd|ZAHL=250m) 50,000
©29 L&, U= 22 U2 AHL=300m) 20,000
OY A AAZ] 2UHI42 FH|ZAH(L=2,600m) 80,000
OO0 Itz 242 A-IZAH(L=1,0000m) 60,000
©@Jte olXtel 2Ui%=2 HH|Z AH(L=200m) 50,000
oYY S&, M2 2H4Z2 FHUIZAM (L=1,5
00m) 80,000
O=24 S=2| Z2Ui=2 ZHIZAH(L=2,100m) 100,000
OQE =282 242 ZH|ZAF (L=1,000m) 70,000
© 0/ &2l 2Hi2=2 ZHIZAHL=1,100m) 70,000
© 0|2 222 2Hi=2 HHIZAHL=1,400m) 84,000
© 2% =Z4H2| BHE=Z2 B2 AHL=700m) 100,000
© 2% Z=222| HH£=Z2 FHHIZAHL=200m) 120,000
© e =2l 2Hi£=2 HHIZAHL=700m) 80,000
O <o 2822 2HH£E=2 HHI 2 AHL=350m) 70,000
© < A, JHa2e| 2HHEZ2 HHIZ2AHL=T,
000m) 80,000
© =2 D222 2HH£=Z U2 AHL=300m) 70,000
O BT = A HE2AH1B) 100,000
03 A& =01l 4,489 4,095 3%
OASRUH oflarE2 4,489
403 MHAISEHSE 20| 700,000 500,000 200,000
02 2| 2SS A I 700,000 500,000 200,000
Os==ZANFYE JIBIAIE KA 22l 700,000
H2)s)lBAE |xze 256,272 389,933 £133,661
201 Er2 A H| 86,272 39,933 46,339
01 AP 22l ] 10,120 25,520 215,400
OH£=Z RoldHI EaY =5
165, 000 x 12& x4l A 7,920
OYLEIEA HI| +=EBMN =2
110, 000 «200H 2~ 2,200
02 2329l 76,152 14,413 61,739
OMIIE24d| HIIHEIY =22 (HH=Z4HA
) 1,870
OFIIHHUE === 4,356
Os 2 il 4= & (530K 440,000& *6& 2,640
OZhH 2= 2 (150kw 176,000 x6& 1,056
O& & 4=Z (93kw) 110,000 x6E 660
o=sAE ®IIe3 8,187
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SN sYYDY
¥ so)le 15
el S DIEAlE F Y| (ol HR)
S - B SRS - HTAMY - BES of v o HDS2
O% & b ==ZH(1,530kw) 423,500& 63 2,541
OS2t ==Z (530kw) 242,000 6 1,452
OZ et =2 (150kw) 181,500 «6& 1,089
OA &t =2 (93kw) 181,500& 6 & 1,089
OFeg MIIQI(RAA|)
42,0003 123 *4 1 & 2,016
OCCTVESHI (D1 Z39H ) tlarE2 38,339
OFIIRE GIMEZ 3,900
OS4RE HaEY 34,439
OCCTV2 I (&l 84000 A) 23,400
(OFSPIETE=, 390,000 6 2,340
Oosiea3 3,510,000 x6& 21,060
403 AXIEH S H201E 170,000 320,000 A150,000
02 BII2SOICHEHCHEE AL 170,000 320,000 150,000
OUATAL AT (M, Y 44 T
= 170,000
(F&)=clH=elANE 23 36,000 40,000 24,000
201 g2l 36,000 40,000 24,000
02 2224t 36,000 40,000 24,000
O%2A LB ANL2 Y (2700H) AR 36,000
(2 )sO0ZEHOISY T8 (ZE) 1,200,000 2,200,000 21,000,000
& 600,000
= 180,000
Al 420,000
403 XS HSXHE01H 1,200,000 2,200,000 21,000,000
= 600,000
& 180,000
Al 420,000
02 BI|2SOICHECHEE AL 1,200,000 2,200,000 21,000,000
OUIAXXT SHEHOBY X4 1,200,000
& 600,000
= 180,000
Al 420,000
(e )fgclAld Mo 100,000 100,000 0
401 Al HIZL 2O 100,000 100,000 0
01 A&l 100,000 99, 100 900
OEHXF =2 dl A (L=0.4km) 100,000
(BF)sLMa|era| 80,000 140,000 260,000
= 80,000
401 AlIEHIZL R THYI 80,000 140,000 260,000
& 80,000
01 Al& I 80,000 140,000 260,000
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A
R EH
=T I

=

S BB SR (3H) - HRAY - BAS

01 & o

=P

M
2H

02Es E+2 IHIMEY

OtdE 82 FHIAEY

60,000,000&

20,000,000&

H

60,000
60,000
20,000
20,000

> H oK

978,571
685,000

88,071
205,500

981,428

A2,857

> H1 0y

978,571
685,000

88,071
205,500

981,428

22,857

> H "

> H i

978,571

464,285
325,000
41,785
97,500
514,286
360,000
46,286
108,000

981,428

A2,857

= H o

5,671,429

—

,970,000

510,429

,191,000

5,333,514

337,915

401 AIEHI

Chl

!

= Hl o

5,671,429

,970,000

510,429

,191,000

5,333,514

337,915

01 Al& I
OES

02 Zreldl
oES

2R SE AL

TR S EUIAL

> H1 oY = H = o

= H e

—_ = o] =

, 104,250
,484,175
,042,100

133,984
308,091

,585,175
, 112,800

143,074
329,301

, 111,500

780,000
100,286
231,214

923,400

648,000
83,315
192,085

553,000
327,000

5,320,180

A215,930

553,000
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M sEE
B oo 15
CHel: =D EAl & J Y ?liEH)
% = PSS
S M ER(3) - NRAY - BES S 2
& 228,900
= 29,430
Al 68,670
OZUHATIX SEFUIME(EAZLUE) 226,000
= 158,200
= 20,340
Al 47,460
03 AIE =0l 14,179 13,334 845
OA &2 5,671,429,000%0.25/100 14,179
He) A2l AE (=) 333,000 333,000 0
< 100,000
Al 233,000
401 Al & HIL S OHYI 333,000 333,000 0
= 100,000
Al 233,000
01 Al&Hl 330,602 330,602 0
OAT2=ClAIEEH 330,602
= 100,000
Al 230,602
03 Al 201 2,398 2,398 0
O Al & 20 333,000,000%0.72/100 2,398
HR)sYE S22 XA (=) 10,000 0 10,000
= 10,000
401 A& HIZ =0 10,000 0 10,000
[ 10,000
01 A& I 10,000 0 10,000
OFE 29 adol 2FINLAL 10,000
5= 10,000
HF)ATD FUSAAS (AIB]) 40,000 0 40,000
401 Al HIL 2 THYI 40,000 0 40,000
01 A&t 40,000 0 40,000
ON&EE EZ2ARA ATAALTR
250,000 * 100m 25,000
OXS 158 sHEXSA
15,000,000& * 12 15,000
e )ANZ AL LAY (BS) 70,000 0 70,000
= 49,000
=t 6,300
Al 14,700
307 2I2tol™ 70,000 0 70,000
& 49,000
< 6,300
Al 14,700
02 QIZtENME RS 70,000 0 70,000
OANZL &AL 70,000
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2N SYUHD
HH: se)|u 25
o9l SeDIBrAlE F (ol @
SA - EH.O(BH) - HEAY - BAS Ol b e HDS2
e 49,000
= 6,300
Al 14,700
(He)s0i& SXEZE(=H]) 13,400 0 13,400
= 6,700
Al 6,700
307 2i2tol™ 13,400 0 13,400
= 6,700
Al 6,700
02 QItANEES 13,400 0 13,400
O sHEEEEY 13,400
= 6,700
Al 6,700
(B2)sOoZH OIS XL A (2]) 2,409,000 0 2,409,000
403 XX S S AH=01d 2,409,000 0 2,409,000
02 B 2SOICHECHEY AS I 2,409,000 0 2,409,000
OOIHXXT =O0EHOISS ZHAMY ZHl F
otz 2,409,000
(H2)ZRTA 2 XAA (24]) 276 0 276
= 276
202 oidl 276 0 276
= 276
01 SUAYI 276 0 276
O=FMa 2e|Zdl 276
= 276
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